Mathematics Section A

Section Id : 22689513878
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15

Number of Questions to be attempted : 15

Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527583
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 226895672272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let A = [a;;]nun be a matrix. Then

Match List-1 with List-1l

List-1 List-11

(A AT = A () A is a singular matrix

(B) AT = —A (I} A is a non-singular matrix
(Cy|Al=0 (Il A is a skew symmetric matric
D) |1al=0 (IV) A is a symmetric matric

Choose the correct answer from the options given below:

1.(A) - (W), (B) - (1), (C) - (M), (D) - ()

2. (A) - (W), (B) - (), () - (0, (D) - ()

3. (A) - (1), (B) - (), (C) - (), (D) - (V)

4. (A) - (1. (B) - (1), () - (IV), (D) - (1)
Options :

2268952606318. 1
2268952606319. 2
2268952606320. 3
2268952606321. 4

Question Number : 51 Question Id : 226895672272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



T 1 A = [2, ] TP SHTOHE B T
-1 B GET-1 B 1Y T B

-1 -1

(&) AT = A (1) A U@ 3egahauiig HTog 8l
(B)AT = —a |(Il) AU SHGHHUIY SHTOYE B
(C) 1Al =0 (1) A U T Gafid SH1ede &l
(D) Al = 0 (IV) A TS A HTE g

I f&u 7 fawedl 3 9 9E SR -

A)-(IV), (B)-(1l), (©)-(1. (D)-()
A)-(IV), (B)-(l1), (Q-(1), (D)-(1)
A)=(1, (B)-(1), (C)-(11), (D)-(IV)

T
A
3.
4. (A)-(). (B)-(1, (C)-(V), (D)-(111)

e ey s

Options :

2268952606318. 1
2268952606319. 2
2268952606320. 3
2268952606321. 4

Question Number : 52 Question Id : 226895672273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fa=[5 °

1] and B =[2 é} then the matrix AB is equal to

Options :

2268952606322. 1
2268952606323.2
2268952606324. 3
2268952606325. 4

Question Number : 52 Question Id : 226895672273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



aiea=[t OJeRe=[] 7| dlsiolg A IR R

Options :

2268952606322. 1
2268952606323. 2
2268952606324. 3
2268952606325. 4

Question Number : 53 Question Id : 226895672274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If A is a square matrix and | is the identity matrix of same order such that A® = |, then (A - 1)* + (A + I)* - 3A is equal to

1T.A

2.2A
3. 3A
4. 5A

Options :

2268952606326. 1
2268952606327.2
2268952606328. 3
2268952606329. 4

Question Number : 53 Question Id : 226895672274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e A U &1 1YE § AR | THF DIl BT dodid ACE U TPR e mAZ = 1§ A (A- 1P + (A + P -3A TR &

1T.A

2. 24
3.3A
4.5A

Options :

2268952606326. 1
2268952606327. 2
2268952606328. 3
2268952606329. 4

Question Number : 54 Question Id : 226895672275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



0 0 +3
fA=|0 43 o0/ thenladj4|isequalto
v3 0 0

1.3
2.9
3.27
4. 81

Options :

2268952606330. 1
2268952606331.2
2268952606332. 3
2268952606333. 4

Question Number : 54 Question Id : 226895672275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

0 0 3

geA=[{o0 y3 ol @ ladjasORE
V3 0 0

1.3

2.9

3.27

4.81

Options :

2268952606330. 1
2268952606331. 2
2268952606332. 3
2268952606333. 4

Question Number : 55 Question Id : 226895672276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If y =362 + 2%, then :—’+ 6y is equal to
ot

|4y
dax

2.5%
de

dy
3.6—
dx

dy
4 302
30 o

Options :

2268952606334. 1
2268952606335.2
2268952606336. 3
2268952606337. 4



Question Number : 55 Question Id : 226895672276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
TG y = 32+ 263§, WL 46y WA §

dx?

dy
Cdx

1

Options :

2268952606334. 1
2268952606335.2
2268952606336. 3
2268952606337. 4

Question Number : 56 Question Id : 226895672277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The interval, on which the function f(x) = x2e~* is increasing, is equal to

1. (—o0,0)

2. (=00,2) U (2,00)
3.(=2,0)

4. (0,2)

Options :

2268952606338. 1
2268952606339. 2
2268952606340. 3
2268952606341. 4

Question Number : 56 Question Id : 226895672277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
g SR, o/ W BT f(x) = x%e~+ FHAM §, R 8

1. (—wm,00)

2. (—e2,2) U (2,e0)
3.(—2,0

4. (0,2)

Options :

2268952606338. 1
2268952606339. 2
2268952606340. 3
2268952606341. 4

Question Number : 57 Question Id : 226895672278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

logex

»
=0

If the maximum value of the function flx) = x >0 occurs atx = g, then a®f"'(a) is equal to

Options :

2268952606342. 1
2268952606343. 2
2268952606344. 3
2268952606345. 4

Question Number : 57 Question Id : 226895672278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

G BT £lo) =22=,x > 0 BT HFHTH A x =« WA E, A a?f""(a) TRE

Options :

2268952606342. 1
2268952606343. 2
2268952606344. 3
2268952606345. 4

Question Number : 58 Question Id : 226895672279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



4 e
[ lx—2|dx is equal to

1.5

Options :

2268952606346. 1
2268952606347.2
2268952606348. 3
2268952606349. 4

Question Number : 58 Question Id : 226895672279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
[ix—20dx SRR G

1.5

Options :

2268952606346. 1
2268952606347.2
2268952606348. 3
2268952606349. 4

Question Number : 59 Question Id : 226895672280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

eslog,x - log, x

The integral | = J— dx is equal to
e3logsx __ pllogex

T s+¢. where C is the constant of integration

3 ?‘ + ¢, where C is the constant of integration
3
3. % + ¢, where C is the constant of integration

4
4. % 4+ ¢, where C is the constant of integration

Options :



2268952606350. 1
2268952606351. 2
2268952606352. 3
2268952606353. 4

Question Number : 59 Question Id : 226895672280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

el logax _ et log,x

lef dx TR E

p3logex _ p2logex

1.’2-‘+c.aﬁcwaﬂw&m%|

z.%waﬁc@sw&m%l
3.§+c.ﬁﬁ’cwwmﬁm%|
4.§+Oaﬁcwww&m%|

Options :

2268952606350. 1
2268952606351.2
2268952606352. 3
2268952606353. 4

Question Number : 60 Question Id : 226895672281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The area (in sg. units) of the region bounded by the parabola y2 =4x and the linex =1 is

1
3

| oo

Options :

2268952606354. 1
2268952606355. 2
2268952606356. 3
2268952606357. 4

Question Number : 60 Question Id : 226895672281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



TG 2 = 4x AR TG « — 1 U URES 87 91 &7a (@ soRdl 9 &
1
'3

4
3

Options :

2268952606354. 1
2268952606355.2
2268952606356. 3
2268952606357. 4

Question Number : 61 Question Id : 226895672282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following are linear first order differential equations?

dy

A) = =

( )dx—i-P(x)y Q(x)
dx

tB}d—}_+ P(y)x = Q(v)

dy
C T o it e
Q) (x })dx x+ 2y

dy
D) (1 42—+ 2xy =2
dx

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (B) only

3. (A), (B) and (C) only
4. (A), (B), (C) and (D)

Options :

2268952606358. 1
2268952606359. 2
2268952606360. 3
2268952606361. 4

Question Number : 61 Question Id : 226895672282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Fofafad & € @F © uyd $ifc & Wiy siada T4 57
dy s
Ay i
( )dl_+P(x}_1 Q(x)
dx =
(B}d—y+Pyx—ny)
dy )
(C}(x—y)a:x+2y

dy
D) (1 +x%) ==+ 2xy =2
D) ( x)dx xy

e 5T 7T fgedl § 9 9El I g

1. Had (A), (B) 3R (D)
2. $ad (A) 3R (B)
3.®ad (A), (B) 3R (C)
4. (A), (B), (C) 3R (D)

Options :

2268952606358. 1
2268952606359. 2
2268952606360. 3
2268952606361. 4

Question Number : 62 Question Id : 226895672283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The solution of the differential equation sogg(?) = 3x + 4y is given by

1. 423 + 3e~% + C = 0, where C is constant of integration
2.3e3 +4e~% +C = 0, where C is constant of integration
3. 473 + 3% +C = 0, where C is constant of integration
4.3e73 + 4e% 4+ C = 0, where C is constant of integration

Options :

2268952606362. 1
2268952606363. 2
2268952606364. 3
2268952606365 4

Question Number : 62 Question Id : 226895672283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
AT THID 1og, () =32+ 4y @1 8d (99 & R &g1 oIl &

1. 4¢3 1 3¢~% 4 C = 0, SlBl C U@ GHI@T AAL 6l
2.3¢% + 46~ +C = 0, el C UD GHIDTH AR g
3. 4e=3 4 3¢% 4 C = 0, TGl C U QHIHTH R B
4.3¢73% 4 4¢% 4 C = 0, ol C TP GHGTH I 6|

Options :

2268952606362. 1
2268952606363. 2
2268952606364. 3
2268952606365 4



Question Number : 63 Question Id : 226895672284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The probability distribution of a random variable X is given by

X 0 1 2
_ . 1 1
PX) Recalgt g a?

If a = 0,then P(0 < x <= 2) is equal to

j

Options :

2268952606366. 1
2268952606367. 2
2268952606368. 3
2268952606369. 4

Question Number : 63 Question Id : 226895672284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TP Gel=id 99 X &I WIiddhdl ged
X 0 1 2
g .. 7 .
P(X) 1—7a® Eﬂ.-}‘:} a“

GRITGO el dda>08 dIPl0<x<2) TR &

Options :

2268952606366. 1
2268952606367. 2
2268952606368. 3
2268952606369. 4



Question Number : 64 Question Id : 226895672285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The corner points of the feasible region associated with the LPP: Maximise Z = px + qy.p, g > 0 subject to
2x+y=10,x +3y = 15x,y = 0 are (0, 0), (5, 0), (3, 4) and (0, 5). If optimum value occurs at both (3, 4) and (0, 5), then

l.p=g

2.p=2q
3.p=3q
4.q=3p

Options :

2268952606370. 1
2268952606371.2
2268952606372. 3
2268952606373. 4

Question Number : 64 Question Id : 226895672285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

2x+y = 10,x +3y = 15,x,y = 0 & Al WRID U T HABFHIDBI Z = px +qy,p, ¢ > 0 H TG GEId &3 &
@1 f85 (0,0), (5,0), (3.4) 3R (0,5) &1 TfE SPA9 A T (3,4) 3R (0,5) W BT 6, af

l.p=g

2.p=2q
3.p=3gq
4.q=3p

Options :

2268952606370. 1
2268952606371. 2
2268952606372. 3
2268952606373. 4

Question Number : 65 Question Id : 226895672286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Consider the LPP: Minimize Z = x + 2y subject to 2x +y = 3,x + 2y = 6,x, ¥ = 0. The optimal feasible solution occurs at

1. (6, 0) only

2. (0, 3) only

3. Neither (6, 0) nor (0, 3)
4. Both (6, 0) and (0, 3)

Options :

2268952606374. 1
2268952606375. 2
2268952606376. 3
2268952606377. 4

Question Number : 65 Question Id : 226895672286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



26 +y=3,x+2y = 6,x,y = 0 b A WGP UIFH L GATHIBRUI 7 = x + 2y W [G9R &< | 3FaH G471 50 (9

WEd e

1. &ad (6,0)

2.%ad (0,3)

3.9 (6,0 ARAT (0,3)
4.5HT (6,0) 3R (0,3)

Options :

2268952606374. 1
2268952606375. 2
2268952606376. 3
2268952606377. 4

Mathematics Section B1 Core

Section Id : 22689513879
Section Number : 2

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35

Number of Questions to be attempted : 35

Section Marks : 175
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527584
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 226895672287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let f: R—R be defined as f(x) = 10x. Then (Where R is the set of real numbers)

1. fis both one-one and onto
2.fis onto but not one-one

3. fis one-one but not onto

4. f is neither one-one nor onto

Options :

2268952606378. 1
2268952606379. 2
2268952606380. 3
2268952606381. 4

Question Number : 66 Question Id : 226895672287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

AHI & £ R — R f(x) = 10x BRI IR {3501 91a1 | 79 (SR R aRafa® Tears &1 9=y ©)

1. 0o 3R MBGD il &

2. f HTDCD & Tq Ubd! Tol &
3. f UHD! & T SATIGd Tol &
4. 90 U] AR A T ABED &

Options :



2268952606378. 1
2268952606379. 2
2268952606380. 3
2268952606381. 4

Question Number : 67 Question Id : 226895672288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let A = {1, 2, 3}). Then, the number of relations containing (1, 2) and (1, 3) , which are reflexive and symmetric but not
transitive, is

T
2.2
3.3
4.4

Options :

2268952606382. 1
2268952606383. 2
2268952606384. 3
2268952606385. 4

Question Number : 67 Question Id : 226895672288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A B A = (1,23} 81 Td (1, 2) 3R (1, 3) T Iffed &3 ac 37 eyl @ UE, o & 9 SR uafid § g
YHHG e 5, 8

1.1

2,2

3.3
4.4

Options :

2268952606382. 1
2268952606383. 2
2268952606384. 3
2268952606385 4

Question Number : 68 Question Id : 226895672289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
for |x| < 1, sin (tan~1x) equal to

1
Vi+xZ




Options :

2268952606386. 1
2268952606387. 2
2268952606388. 3
2268952606389. 4

Question Number : 68 Question Id : 226895672289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

x| <1 %FCTE sin [taﬂ"lx)W%

1
Vi+xZ

Options :

2268952606386. 1
2268952606387. 2
2268952606388. 3
2268952606389. 4

Question Number : 69 Question Id : 226895672290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

1 2 ¥
letA=|-1 3 2} and M;, A respectively denote the minor, co-factor of an element a; of matrix A, then which of the
2 4 1

following are true?

(A) M2z = -1
(B) Azz =10
(C) Axz =
(D) Maz =1
(E) M3z = 3

Choose the correct answer from the options given below:

(A)
(A),
(A),
(A),

1. (A) and (B) only

2. (B), (C) and (E) only
2 (D) and (E) only

4. (C) and (E) only
Options :

2268952606390. 1
2268952606391. 2
2268952606392. 3
2268952606393 4



Question Number : 69 Question Id : 226895672290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

i o4
IIHIﬁFA:{—l 3 2
2 4 1

YHH Y Hd 67

(A) M2z = -1

}% 3R My, Aj; 3G A & U 31904 a; B HHY: JUYRIUD, GeEUs Sl ¢id & | 79 Fafafad §

(B) A3 =10

(C) A3z =3

(D) Ma3 =1

(E) M3z = -3

< g g Faed 79 W SR

1. %ad (A) 3R (B)
2.%4d (A), (B), (C) R ()
3. ﬁf{ (A), (D) 3R ()
4.%ad (A), () 3R (B)

Options :

2268952606390. 1
2268952606391. 2
2268952606392. 3
2268952606393. 4

Question Number : 70 Question Id : 226895672291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

_ [cos8 —sin 1L B T 3
letA=[20 “S8%and 1= J]. AT+ A=, then

1.8=2:11r+;1, nel

2.8 =nmnel
T
3. 8:(211+1}5,11€E

T
4.€=2'mr+g,'nez

Options :

2268952606394. 1
2268952606395. 2
2268952606396. 3
2268952606397. 4

Question Number : 70 Question Id : 226895672291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



_ [cos@ —sin Lo T _
W%A_[sine cosfﬂaﬁql_ 0 1}%!”1%‘5‘ +A=18d

'I.E‘=2mr+;1, nek

2.8 =nmnek

T
3. 8:(211+1)§,11€E

T
4.B:2nn+g,‘nez

Options :

2268952606394. 1
2268952606395. 2
2268952606396. 3
2268952606397. 4

Question Number : 71 Question Id : 226895672292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
If A and B are skew-symmetric matrices, then which one of the following is NOT true?

1. A% + B? is skew-symmetric
2. A" is skew-symmetric

3. 8™ is symmetric

4. A% + BY is symmetric

Options :

2268952606398. 1
2268952606399. 2
2268952606400. 3
2268952606401. 4

Question Number : 71 Question Id : 226895672292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e A 3R B 1398 YHET 31egs &, df Fefikiiad 7 9 ®H 91 94 6l 87

1.3 + g3 foun vafiE §
2. Al fovg gufa B
3.5 TOfta g

4. p% + BSOHARE R

Options :

2268952606398. 1
2268952606399. 2
2268952606400. 3
2268952606401. 4

Question Number : 72 Question Id : 226895672293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If A and B are invertible matrices then which of the following statement is NOT correct?

1. adjA = |AlA™?
2.(A+Bt=Al+B7
3. a1 = |a]t

4.(AB) 1=B"1at



Options :

2268952606402. 1
2268952606403. 2
2268952606404. 3
2268952606405 4

Question Number : 72 Question Id : 226895672293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TG A 3R B SgepHUNY 3100E &, af Fgiad § 9 & 91 ©Y- 9el 7ol 67

1. adjA = [A]at
2.(A+B)1=A'+ B
3. AL = |at

4 (AB)"1=B"1a1

Options :

2268952606402. 1
2268952606403. 2
2268952606404. 3
2268952606405. 4

Question Number : 73 Question Id : 226895672294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let A =[a;;]oxz and B = [b;;ls.2, then |SAB| is equal to

1.52 JALIB]
2.5% |AlLIB]
3. 5%|AB]
4.5% |aB|

Options :

2268952606406. 1
2268952606407. 2
2268952606408. 3
2268952606409. 4

Question Number : 73 Question Id : 226895672294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Al a= [e:5]zxa 3R B= [b:152 %i i |SAB| W%

1.5 |A].|B]
2.5% |ALIB]
3. 5%|AB]
4.5% |aB|

Options :

2268952606406. 1
2268952606407. 2
2268952606408. 3
2268952606409. 4

Question Number : 74 Question Id : 226895672295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Let AX = B be a system of three linear equations in three variables. Then the system has
{A) a unigue solutions if [A| = 0

(B) a unique solutions if |A] = 0

(C) no solutions if |A| =0 and (adjA) B= 0

(D) infinitely many solutions if |A| = 0 and (adjA)B =0

Choose the correct answer from the options given below:

1. (&), (C) and (D) only
2. (B), (C) and (D) only
3. (B) only

4. (B) and (C) only
Options :
2268952606410. 1
2268952606411. 2
2268952606412. 3
2268952606413. 4

Question Number : 74 Question Id : 226895672295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
HHI {6 AX = B oiF =R H TH Y@s iRl &1 Ue Hod 8| a8 el 31/
(A) T HfEelT 8 & A 14 = 0 B
(B) U 3G 8T & TMC 1Al = 0 B
(C) BI% B 181 & UlG |al = 0 R (adj A) B = O B
(D) SURIHd ¥U ¥ 3 5 & dia || = 0 3 (adj A)B = 0 &1
3 Ry U et # A R SR T

1. Had (A), () 3R (D)
2.%dd (B), (C) 3R (D)
3. Hgd (B)

4. %4d (B) 3R (C)

Options :

2268952606410. 1
2268952606411. 2
2268952606412. 3
2268952606413. 4

Question Number : 75 Question Id : 226895672296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



kcosx i
X FE- - .
If the function f(x)=¢T — 2% }% is continuous at x =, then k is equal to
3 tX=— )
2
1.6
LIRS
3i=h
4.4
Options :

2268952606414. 1
2268952606415.2
2268952606416. 3
2268952606417. 4

Question Number : 75 Question Id : 226895672296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

kcosx T
S
A HET flx) =47 —2x 2, 5= RYUTI, T x WK
3] tX ==
2
1.6
25
3.-6
4.4
Options :

2268952606414 1
2268952606415.2
2268952606416. 3
2268952606417. 4

Question Number : 76 Question Id : 226895672297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-I List-lI

(&) Flx) = |x] (I) Not differentiable at x = —2 only

(B) flx) = |x+ 2| |(Il) Not differentiable at x = 0 only

(C) fx) = |x2— 4||(Il) Not differentiable at x = 2 only

(D) fx) = |x—2] |(IV) Not differentiable at x = 2, —2 only

Choaose the correct answer from the options given below:

T..(A) - (0. (B) - (1), (Q) - (1), (D) - (V)
2. (A) - (1), (B) - (0, (C) - (V). (D) - (1)
3. (A)- (), (B) - (1), (Q) - (), (D) - (V)
4. (A) - (IV), (B) - (), (<) - (), (D} - ()



Options :

2268952606418. 1
2268952606419. 2
2268952606420. 3
2268952606421 4

Question Number : 76 Question Id : 226895672297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT G-Il B 1Y e B

-1 H-11

W) Fe) =lxl (1) DI x = 2 R AT T8I &
(B) fx) = x+2| |(1) PAA 5 = 0 R HITHT-1T Tl &
(€) £ = |x2 — 4](1ll) DA x = 2 W HIDY -8l &
(D) f(x) = |x—2| |1V) PTH x = 2, —2 T aHT-E Tl &
2 e e famedl A Y @t SR T

1. (A)-(1), (B)-(n), (Q)-(1), (D)-(IV)
2. (A)=(0, (B)-(), (Q)-(IV). (D)-(11)
3. (A)-(1), (B)-(0, (C)-(1), (D)-(1V)
4. (A)-(V), (B)-(1m), (C)-(, (D)-(1)

Options :

2268952606418. 1
2268952606419. 2
2268952606420. 3
2268952606421. 4

Question Number : 77 Question Id : 226895672298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let y = sin( cosx?), then the value of ? at ¥ =% is equal to
X Z

F= \E sin (i,_)

V2

4. Esm (\,f_lf)

Options :

2268952606422. 1
2268952606423. 2
2268952606424. 3
2268952606425. 4

Question Number : 77 Question Id : 226895672298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

A y = sin(cosx?) B, T x =& WL G A VR &

—r 1
1. ——cos (—_)
2 vz

c— j—cos|—
V2 V2
7

3. —\Esm (ﬁ)
L e v

4. \Esm(ﬁ)

Options :

2268952606422. 1
2268952606423. 2
2268952606424. 3
2268952606425. 4

Question Number : 78 Question Id : 226895672299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
(A) The minimum value of flx) = (2x —1)°+3 n4
(B) The maximum value of f{x) = —|x + 1| + 4 1y 10
{C) The minimum value of f{x) =sin(Zx) + 6 (1 3
(D) The maximum value of f(x) = —(x —1)2+ 10 (V) 5

Choose the correct answer from the options given below:

1.(A) - (0, (B) - (), (C) - (1), (D) - (V)
2. (A) - (1, () - (1, (©) - (0, (D) - (V)
3. (A) - (), (B) - (1), (C) - (1V), (D) - (1)
4. (A) - (), (B) - (V). (@ - (0. (D) - (1)

Options :

2268952606426. 1
2268952606427.2
2268952606428. 3
2268952606429. 4

Question Number : 78 Question Id : 226895672299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 D1 G-Il & 1Y e B

-1 -1
(A) Fx) = (2x —1)2 + 3 DI YAad IH (1) 4
(B) £(x) = —|x + 1| + 4 BT AUHTH A (I 10
(C) flx) = sin{2x) + 6 T YAdH HIH (3
(D) f(x) = —(x — 1)2 + 10 Bl HlTHTH HH (V) 5
Id fau T fomeal °§ O 98t SR -

T (A)-(1, (B)-(1), (Q)-(l), (D)-(IV)
2. (A)-(I), (B)-(1), (C}-(), (D)-(1V)
3. (A)-(1), (B)-(), (©)-(V), (D)-(IN)
4. (A)-(), (B)-(1v), (C)-(1), (D)-(11)

Options :

2268952606426. 1
2268952606427. 2
2268952606428. 3
2268952606429. 4

Question Number : 79 Question Id : 226895672300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The function f(x) = tanx-x

1. is a decreasing function on [

22

0,=
2
2. is an increasing function on [{1

1

)

4. is neither increasing nor decreasing function on [{],;—T)

2|

3. is a constant function

Options :

2268952606430. 1
2268952606431.2
2268952606432. 3
2268952606433. 4

Question Number : 79 Question Id : 226895672300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

o f(x) = tanx-x

1.[9,2)1:1?@6@41?%?%
2. [n,g) TP JHIF BT &
3. TP 3R B ©

4. [o,g)u?:lé}a’%hﬂ%aﬂw‘eﬁaﬂaﬂﬁw%

Options :



2268952606430. 1
2268952606431. 2
2268952606432. 3
2268952606433. 4

Question Number : 80 Question Id : 226895672301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The rate of change of area of a circle with respect to its circumference when radius is 4cm, is

< L r:mz/cm
2.4 cm?/cm
3.8 cmzfcm
4.16 cmzfcm

Options :

2268952606434. 1
2268952606435.2
2268952606436. 3
2268952606437. 4

Question Number : 80 Question Id : 226895672301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

fobeil gt @ URIY & WIvgy, SHa &FHd & URddH $I a3, Sdid Bedl 4 cm 8, 8

C S r:mzfcm
2.4 cm¥/cm
3.8 cmzfcm
4.16 szfcm

Options :

2268952606434. 1
2268952606435. 2
2268952606436. 3
2268952606437. 4

Question Number : 81 Question Id : 226895672302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

/3
tan x e
——— dxis equal to
tan x +cot x

e

1.

= H

Options :
2268952606438. 1



2268952606439. 2
2268952606440. 3
2268952606441. 4

Question Number : 81 Question Id : 226895672302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

/3

j __tamx L SEE

L tanx + cot x

Options :

2268952606438. 1
2268952606439. 2
2268952606440. 3
2268952606441. 4

Question Number : 82 Question Id : 226895672303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
Definite integral Value
12k
FA N (i —
® | o 2
1 3
f 4 pl
(B} j_lsm rcostxdx (m Iog,(z)
(C) j sinx dx () log,2
o
2 2
By =
(}sz_lazx (V) 0

Choose the correct answer from the options given below:

1.(A) - (), (B) - (I, (C) - (), (D) - (IV)
2.(A) - (), (B) - (0, (C) - (0, (D) - (IV)
3. (A) - (1, (B) - (0, (C) - (V). (D) - (1)
4. (A) - (1, (B) - (V). (Q) - (). (D) - (1)

Options :

2268952606442. 1
2268952606443. 2
2268952606444. 3



2268952606445. 4

Question Number : 82 Question Id : 226895672303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 1 G-l D 1Y e B

- iSIEl
IGIECELIC T E o
1 2x
® [ i 02
1
(B) j sin®xcos*xdx ()] 5099@)
-1
(@] J; sinx dx (i) log,2
3
(D}L xf_ —ax (V) 0
I feu MU fawed! o ¥ HEt I -

. (A)-(: (B)-(1), (Q)-(1), (D)-(IV)
2. (A)-(n), (B)-(H), (C}-(, (D)-(1V)
3. (A)-(1), (BY-(), (C)-(V), (D)-(ID)
4. (A)-(), (B)-(1v), (O)-(, (D)-(1D)

Options :

2268952606442. 1
2268952606443. 2
2268952606444. 3
2268952606445. 4

Question Number : 83 Question Id : 226895672304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The integral | = fex (X ) dx is equal to
3x?

1.{x? ; g ;
1 5(?_x) +C, where C is constant of integration

2. (g—x) e* +C , where C is constant of integration

3.

: e* + ¢, where C is constant of integration

=

4, 3ig-r + ¢, where C is constant of integration
X

Options :

2268952606446. 1
2268952606447. 2
2268952606448. 3
2268952606449. 4

Question Number : 83 Question Id : 226895672304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1
T |=fer(x3—_,l) dx SRER 2
7
1{x2 o
1.5(?—x)+C.E€TCWWW%|

2. (%:—x)euc.aﬁcwwm&m%

L x4 o O] C U@ GHDEH SR Bl

x2

3

4_§Ex+c.aﬁcu$ﬂmﬁq&m%|

Options :

2268952606446. 1
2268952606447. 2
2268952606448. 3
2268952606449. 4

Question Number : 84 Question Id : 226895672305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The area (in sg. units) of the region bounded by the curve y = x5, the x-axis and the ordinates x = —1 and x = 1 is equal

to

|

Options :

2268952606450. 1
2268952606451. 2
2268952606452. 3
2268952606453. 4

Question Number : 84 Question Id : 226895672305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



TP y = x5 x-3& AR DI x = —1 IR x = 1 R INES &F T &A% (@ 3Bl H) T &

bd |

Options :

2268952606450. 1
2268952606451. 2
2268952606452. 3
2268952606453. 4

Question Number : 85 Question Id : 226895672306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The area (in sg. units) of the region bounded by y = 2,/1—2,x € [0,1] and x-axis is equal to

1

S

Options :

2268952606454. 1
2268952606455.2
2268952606456. 3
2268952606457. 4

Question Number : 85 Question Id : 226895672306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



y = 2JT=wx € [0,1] IR x-318f ¥ IR 87 BT &wer (a7 rsal H) IR S

T

w3

Options :

2268952606454. 1
2268952606455.2
2268952606456. 3
2268952606457. 4

Question Number : 86 Question Id : 226895672307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The integrating factor of the differential equation (x gogpx)g_y+ y = 2log,x i
g ,‘{‘ e

Options :

2268952606458. 1
2268952606459. 2
2268952606460. 3
2268952606461. 4

Question Number : 86 Question Id : 226895672307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

d
WW(;{ {agex'}ﬁ—k)} = Zioggxaﬂﬂwl 033%:

1. log.x

2. %
i)
g
X

1

’ 'I‘og‘,\-'

Options :

2268952606458. 1
2268952606459. 2
2268952606460. 3
2268952606461. 4



Question Number : 87 Question Id : 226895672308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Consider the differential equation, }.? = y(log, v — log, x + 1), then which of the following are true?
x

(A) It is a linear differential equation
(B) it is a homogenous differential equation

(C) Its general solution is .:,;;QSE) = Cx , where C is constant of integration
(D) Its general solution is log, (;) = Cy, where C is constant of integration

(E) If ¥(1) = 1, then its particular solution isy =x
Choose the correct answer from the options given below:

1. (A), (D) and (E) only
2.(A) and (D) only
3. (B) and (C) only
4. (B), (C) and (E) only

Options :

2268952606462. 1
2268952606463. 2
2268952606464. 3
2268952606465. 4

Question Number : 87 Question Id : 226895672308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e GHHTr Igﬂ-uog,y—lagoﬁnmﬁmﬁm@ﬁuﬁ@ﬁqﬁmﬁ?

(A) T8 Ut {WIYg S[@dHe GHIDRY &

(B) U8 Udh THEIY fadhd GHd0l gl

(C) THPT AP T Log, (%) — Cx B, 981 C Udh GHIGT 3R &
(0) ST TP & log, (5) = ¢y 8, el ¢ T Wb R 21
() TE y(1) =18, N HPI AR gy = B

T fgu ¢ fawed! & 9wt SR

1.®dd (A), (D) R (E)

2.%ad (A) 3R (D)

3. @ad (B) 3R (Q)

4.%4d (B), (C) 3R ()

Options :

2268952606462. 1
2268952606463. 2
2268952606464. 3
2268952606465. 4



Question Number : 88 Question Id : 226895672309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If i,j and &, are unit vectors along co-ordinates axes OX, QY and OZ respectively, then which of the following is/are
true?

Choose the correct answer from the options given below:

and (B) only

A), (C) and (D) only
only
(

Options :

2268952606466. 1
2268952606467. 2
2268952606468. 3
2268952606469. 4

Question Number : 88 Question Id : 226895672309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

qfg 1,5 3R ; FHL: Fewi® sl ox, oy 3R 0z & HC THE® U g, di g d e g/ g & 7

Aixi=0

—

3 feg e el A Wl SR G

1.9ad (A) 3R (B)
2.%ad (A), (O) 3R (D)
3. Had (A)

4.(A), (B), (C) 3R (D)

Options :

2268952606466. 1
2268952606467. 2
2268952606468. 3
2268952606469. 4

Question Number : 89 Question Id : 226895672310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



If the points A, B, C with position vectors 20i + 4j, 5{ —j and 10i — 13] respectively are collinear, then the value of 1 is

112

2. -37

337

4. -12
Options :
2268952606470. 1
2268952606471.2

2268952606472 3
2268952606473. 4

Question Number : 89 Question Id : 226895672310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

e Rufq afe=il &= 206 + 25,51 — § 3R 100 —13j A [§G A, B, CH@R, A A @A

i
237
3.37
4. -12

Options :

2268952606470. 1
2268952606471. 2
2268952606472. 3
2268952606473. 4

Question Number : 90 Question Id : 226895672311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

if 345+ &=0and |4l = 3,|b| =5,|8] = 7. then the angle between g and j is

=

_.
(ST

M
wl =

N

=

Options :

2268952606474. 1
2268952606475. 2
2268952606476. 3
2268952606477. 4

Question Number : 90 Question Id : 226895672311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



UC;45+2=0%Rjal=3,]b =518 =78 1 43R ;DI DI DI §

S

b
ol

Options :

2268952606474. 1
2268952606475.2
2268952606476. 3
2268952606477. 4

Question Number : 91 Question Id : 226895672312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

let § =i+4f,b=4j+ kand Z=1— 2k If ¢ is a vector perpendicular to bath 7 and p such that & 4 = 16, then |r§| is
equal to

1.433

2.2433
3.3v33
4. 14433

Options :

2268952606478. 1
2268952606479. 2
2268952606480. 3
2268952606481. 4

Question Number : 91 Question Id : 226895672312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

HAID G =i+ 4j,5=4j+ kAR &=1— 2k 81 MG 4, & 3R ; Tl o <igdd U WU SHIPRE [ 2 4 = 16 8. Tl |d
T g

1.433

2.2433
3.3v33
4. 14/33

Options :

2268952606478. 1
2268952606479. 2
2268952606480. 3
2268952606481. 4



Question Number : 92 Question Id : 226895672313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If a line makes angles «, 5,y with the positive directions of x-axis, y- axis and z-axis respectively, then
sin? & + sin?f + siny is equal to

1.1
2.2
3.3
4. -2

Options :

2268952606482. 1
2268952606483. 2
2268952606484. 3
2268952606485. 4

Question Number : 92 Question Id : 226895672313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e TP 31 x-3H&, y- 38l AR z-H& B GATED GRS & WY BIRE: o, g,y DIV ! 6, Al sin? a + sin®g + sin?y TIER G

T4
2.2
3.3
4.-2

Options :

2268952606482. 1
2268952606483. 2
2268952606484. 3
2268952606485. 4

Question Number : 93 Question Id : 226895672314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Consider the line 7=1—2j + 4k + A(—i + 2j — 4k)

Match List-1 with List-1l

List-1 List-11

=g A =
(&) A point on the given line m (ﬁ,ﬁ,ﬁ)
(B) direction ratios of the line i 4,-2,-2)
(C) direction cosines of the line iy (1, -2, 4)
(D) direction ratios of a line perpendicular to given line |(IV) (-1, 2, -4)

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (). (€) - (. (D) - (1)
2. (A) - (1), (B) - (V). (Q) - (), (D) - (O
(
(

3. (A) - (), (B) - (V). (O - (0. (D) - (1)
4.(A) - (V). (B) - (1), (Q) - (1), (D) - (D)

Options :

2268952606486. 1
2268952606487. 2
2268952606488. 3
2268952606489. 4

Question Number : 93 Question Id : 226895672314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

T 7 = i — 25+ 4k + A(—i + 2j — 2%) R TR B
TA1-1 DT G-Il D G FHeT i

-1 GEiAl

(A AT TR B g 0 (\%\%\%)
(B) ¥4I & fadp-3rurd (1) (4,-2,-2)

(€) ¥E & feg-BiargA iy (1,-2,4)

(D) T 713 @1 & didad 9] & [GH-3ad  |(1V) (-1,2,-4)

I f&u 7 fawed! & 9 9t SR -

1. (A)-(IV), (B)-(111), (C)-(1), (DY-(D)

2. (A)-(1, (B)-(IV), (O)-(i, (D)-(1)

3. (A)-(n), (B)-(1v), (C)-(1) (D)-(1N

4. (A)-(V), (BY-(11, (S)-(1). (D)-(11)

Options :

2268952606486. 1
2268952606487. 2
2268952606488. 3
2268952606489. 4

Question Number : 94 Question Id : 226895672315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The shortest distance between the lines X ; W e W ; 2is equal to

Options :

2268952606490. 1
2268952606491. 2
2268952606492. 3
2268952606493. 4

Question Number : 94 Question Id : 226895672315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Yarai x—lzu:z—33ﬁ7{x—2: }*—422—5 %mﬁ%ﬁ@w%

2 3 4 4 6 8

4.5

Options :

2268952606490. 1
2268952606491. 2
2268952606492. 3
2268952606493. 4

Question Number : 95 Question Id : 226895672316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which one of the following set of constraints does the given shaded region represent?

y

\\ 9 (15, 20)

0}

¥

Tox+v=30,x+y=15x=<15,v=20,x,y =0
2ox+vy=30,x+y=15y=15x=20,x,y=0
S3.x+y>230,x+y=15x=15y=20,x,y =0
dx+ry=30,x+y=15v=15x=20,x,y =0

Options :

2268952606494. 1
2268952606495. 2
2268952606496. 3
2268952606497. 4

Question Number : 95 Question Id : 226895672316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

fear a1 srifed & Hafaiad | 3 sgaril & by 9=y & gl 82

¥y

\ 20 (15, 20)

!

y

T.x+v=30,x+y=15,x<15,v = 20,x,y =0
2ox+y=30,x+y=15y=15x = 20,x,y =0
3.x+v=30,x+y=<15x=<15y < 20,x,y =0
4 x+y=30,x+y=15y=15x=20,x,y =0



Options :

2268952606494. 1
2268952606495. 2
2268952606496. 3
2268952606497. 4

Question Number : 96 Question Id : 226895672317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The corner points of the feasible region of the LPP: Minimize Z = —50x + 20y subject to
2Zx—y=-53x+y=32x—3y=12and x,y =0 are

1. (0,53, {0,6), (1,0, (6,0)
2. (0,3}, (0,5), (3,0), (6,0)
3. (0,3),{(0,5), (1,0), (6,0)
4. (0,53, (0,6), (1,0), (3.0)

Options :

2268952606498. 1
2268952606499. 2
2268952606500. 3
2268952606501. 4

Question Number : 96 Question Id : 226895672317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

2x—y=—53x+y=3,2x—3y= 12 AR 5,y > 0 B A IRGDH YT YHRL: GAAHIBU Z = —50x + 20y B U &
FogfEag e

1. (0,53, {0,6), (1,0, (6,0)
2. (0,3}, (0,5), (3,0), (6,0)
3. (0,3),{(0,5), (1,0), (6,0)
4. (0,53, (0,6), (1,0), (3.0)

Options :

2268952606498. 1
2268952606499. 2
2268952606500. 3
2268952606501. 4

Question Number : 97 Question Id : 226895672318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If A and B are any two events such that P(B) = P(A and B), then which of the following is correct

1.P(BIA) =1
2.p(alB) =1
3.P(BlA)=0
4. PAIB)=0

Options :

2268952606502. 1
2268952606503. 2
2268952606504. 3



2268952606505. 4

Question Number : 97 Question Id : 226895672318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

gfg A AR B DI &l I Y UBR & [ P(B) = P(A 3R B) &, dl FeffRaa f 4 o w 9el &7

1.P(BIA) =1
2.P@AB) =1
3.P(BIA) =0
4. PAIB)=0

Options :

2268952606502. 1
2268952606503. 2
2268952606504. 3
2268952606505. 4

Question Number : 98 Question Id : 226895672319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If A is any event associated with sample space and If E;,E,, E; are mutually exclusive and exhaustive events. Then which
of the following are true?

(A) P(A) = P(E,)P(E,|A) + P(E,)P(E,|A) + P(E3)P(E|A)
(B) P(4) = P(A|E|)P(E,) + P(A|E;)P(E;) + P(A|E5)P(E5)

; _ PQAEJP(E)
{C) P(E;|A) = m,l =333

P(E:|A)P(E)

(D) PAIE) =55 5 & Py’

i=1273

Choose the correct answer from the options given below:

1. (A) and (C) only
2. (A) and (D) only
3. (B) and (D) only
4. (B) and (C) only

Options :

2268952606506. 1
2268952606507. 2
2268952606508. 3
2268952606509. 4

Question Number : 98 Question Id : 226895672319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



e A Uides 9ufd 3 9 ®is 9 & AR 4l £y, E,, E, TR Udel SR uRge] geq1d 81 9d A9 0 9 &F 4 99 82

(A) P(A) = P(E,)JP(E,|A) +P(E)P(E;|A) + P(E;)P(E5lA)

(B) P(A) = P(A[E,)P(E,) + P(A[E2)P(E,) + P(A|Eg)P(E;5)

P(AIEJP(E;)

(O PEM) =57 SaE)p(Ey’

t="132:3

P(E;|AP(E)
(D) P(AlE,} = m,l = 1,2, 3

3 g T et & @ Wl o R

1.9d (A) 3R ()
2.%4d (A) 3R (D)
3. &ad (B) 31X (D)
4.%ad (B) 3R (C)

Options :

2268952606506. 1
2268952606507. 2
2268952606508. 3
2268952606509. 4

Question Number : 99 Question Id : 226895672320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

Let A and B are two events such that p(a) = 0.8,P(B) = 0.5, P(B|A) = 0.4

List-1 List-11
(A)P(ANnB) oz
(B)P(A[B) (I 0.32
(QPAuUB) (l) 0.64
(D) P (A) (IV) 0.98

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (V), (©) - (1), (D) - (1)
2. (A) - (). (B) - (1, (C) - (V). (D) - ()
3. (A) - (), (B) - (V). (C) - (), (D) - (1)
4. (A) - (), (B} - (I, (C) - 0, (D) - (V)

Options :

2268952606510. 1
2268952606511. 2
2268952606512. 3
2268952606513. 4



Question Number : 99 Question Id : 226895672320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 BT G-l D 1Y e B
OHI 6 A 3R B Gl 9241 S USR € 15 p(a) = 0.8,P(B) = 0.5, P(BJA) = 0.4 B

-1 -
(A) P (AN B) oz
(B) P(A[B) (In0.32
(C)P(AUB) (i) 0.64
(D) P (A) (V) 0.98
I feu e fgmedt o © HEt I I
1. (A)-(10), (B)-(V), (C)-(1y, (D)-(N)
2. (A)-(11), (B)-(1), (C)-(1V), (D)-(N)
3. (A)-(1), (B)-(1V), (Q)-(1), (D)-(1)
4. (A)-(1), (B)-1), (C)-(1, (B)-(IV)

Options :

2268952606510. 1
2268952606511. 2
2268952606512. 3
2268952606513. 4

Question Number : 100 Question Id : 226895672321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A black and a red die are rolled simultaneously. The probability of obtaining a sum greater than 9, given that the black
resulted ina 5 is

1.1/2
2.1

3. 213
4.1/3

Options :

2268952606514. 1
2268952606515. 2
2268952606516. 3
2268952606517. 4

Question Number : 100 Question Id : 226895672321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



U $Id 3R U a1 U &I U 91y BT ofdl | If &I Uk O 5 S dl o ° 48 &1 37 uid &1 &1 i sl &

1.1/2
2.1

3.2/3
4.1/3

Options :

2268952606514. 1
2268952606515.2
2268952606516. 3
2268952606517. 4

Mathematics Section B2 Applied

Section Id : 22689513880
Section Number : 3

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35

Number of Questions to be attempted : 35

Section Marks : 175
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 22689527585
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 226895672322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

: i : _ T2 34 4 [& 5 _[a2+b:—c l—c}
If P, @ and R are three singular matrices given by P = |, 3]‘ Q= [Za 6] andR=|" _ 4 ¢ | . then the value

of (2a+6b +17c) is

1.30
2.18
3.34
4. 24

Options :

2268952606518. 1
2268952606519. 2
2268952606520. 3
2268952606521. 4

Question Number : 101 Question Id : 226895672322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

qﬁP,QGﬁTR?ﬁq&@WﬂH&ﬂaﬁP=[z 3“},@:[;& 2]61:1?1?:[53”2_5 1‘¢]%_.ﬁ[(2a+5b+1?c)aﬂﬂﬂ%:

4 3 c+1 c

1.30
2.18
3.34
4. 24



Options :

2268952606518. 1
2268952606519. 2
2268952606520. 3
2268952606521. 4

Question Number : 102 Question Id : 226895672323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Let A be a non-singular matrix of order 3 and |A| = 15, then |adj A] is equal to

1.15
2.45
3.225
4.150

Options :

2268952606522. 1
2268952606523.2
2268952606524. 3
2268952606525. 4

Question Number : 102 Question Id : 226895672323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

HH TIfSTT 3 A BIfE 2 3R Al = 15 B TP YHHUIY e 8, 1l |adj Al b SR &

1.15
2.45
3.225
4.150

Options :

2268952606522. 1
2268952606523. 2
2268952606524. 3
2268952606525. 4

Question Number : 103 Question Id : 226895672324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

3

11%1:[4

_?2] A= [_“2], B= [3?2] and AX = B, then the value of the a is
1.7

2.4/3

3.1

4.5

Options :

2268952606526. 1
2268952606527. 2
2268952606528. 3
2268952606529. 4

Question Number : 103 Question Id : 226895672324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

aica=[} 7]x=[5).5=]]] MRax=pFTmaE:
1.7

2.4/3

3.1

4.5

Options :

2268952606526. 1
2268952606527. 2
2268952606528. 3
2268952606529. 4

Question Number : 104 Question Id : 226895672325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Which of the following statements is incorrect?

1. If two rows or two columns of a determinant are identical, then the value of the determinant is zero.

2. If all the elements in any one row of the determinant are zero, then the determinant value is zero.

3. The value of the determinant remains unchanged if its rows and columns are interchanged.

4. If any two rows of a determinant are interchanged, then the sign of the determinant remains unchanged.

Options :

2268952606530. 1
2268952606531.2
2268952606532. 3
2268952606533. 4

Question Number : 104 Question Id : 226895672325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Fofafed & € & 91 &Y Tod 87

1. 3 ot aRftre @t 5 dfdaat 41 & wY 99F €, 3 IRP® &1 9 B

2. 7fe arfore @1 fordd oft ve dfda & o 3ragq 39 §, 3 IRFe &1 9F g Bl

3. ORI @1 A suRkafdd g1 § 9t su@! didaal iR Wit ol sgw & 9gd Rar e g

4. fe ot uRfore ot foseht ot €1 dfdaal &F smuy & agar o &, f RE & g suiefda wars |

Options :

2268952606530. 1
2268952606531.2
2268952606532. 3
2268952606533. 4

Question Number : 105 Question Id : 226895672326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Match List-1 with List-1l

List-1 List-11
(Matrix) (Inverse of the Matrix)
2 1
i /15
o np
1 -2
5 =3 /s /15
{B}[z 4] - {_lfli} ?/31)}
7
5 f1s '/,
ol d ol 7]
2 -1
& /5 /5
o [; ¢ uv}[lfﬁ . /;l

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

= (1), (B) - (). () - (), (D) - (V)
= (0, (B) - (1), (C) - (), (D) - (V)
= (), (8) - (), (€) - (W), (D) - ()
= (1), (B) - (1v), (C) - (I, (D) - (1)

[t i Lo U Lo S

Options :

2268952606534. 1
2268952606535. 2
2268952606536. 3
2268952606537. 4

Question Number : 105 Question Id : 226895672326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 & T -1 T e w5

-1 -1l
(SITE) (STTSE &1 SGFH)
2 i
i 7 /15 fm}
(A). i (. [_
[4 2] Y Y
17 2
6 -3 /s / 15}
(B). (). [_
B 3l VI
i 7
5 2 /s T/30 ]
(©). (). [ 2
[—5 4} 2/15 1,30
77 =1
7 4 f15 15}
D). o).
b d | Yo Y
74 feu e fased! # 4 |Et IR g+
1. (A)-(1), (B)-(11), (C)-(1D), (D)-(IV)
2. (A)-(1), (B)-(1D), (CO)-(1N, (D}-(IV)
3. (A)-(ln), (B)-(1), (O-(1V), (D)-(I))
4. (A)-(1), (B)-(V), (C)-(1), (D)-(11)

Options :
2268952606534. 1
2268952606535.2



2268952606536. 3
2268952606537. 4

Question Number : 106 Question Id : 226895672327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

HX=11and Y = 3, then X mod ¥ = (X + a¥) mod ¥ holds

1. Only for even integral values of a
2. Only for odd integral values of 4
3. for all integral values of a

4 fora =0 only

Options :

2268952606538. 1
2268952606539. 2
2268952606540. 3
2268952606541. 4

Question Number : 106 Question Id : 226895672327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

afgx=113RY= jéfﬁ XmodY:(X+aY}modymmay%?

1.4 o & GH QUH™ Al & g
2. %ad o & faum quiets o & o
39%@1?[1{”@3@35%—?

4, Bad q = 0 & 1Y

Options :

2268952606538. 1
2268952606539. 2
2268952606540. 3
2268952606541. 4

Question Number : 107 Question Id : 226895672328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The least non-negative remainder when 3'28 is divided by 7 is:

1.2
2.3
3.4
4.5

Options :

2268952606542. 1
2268952606543. 2
2268952606544. 3
2268952606545. 4

Question Number : 107 Question Id : 226895672328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



o9 3128 @l 7 9 fquiford fasan <irar @ df Ja &9 BUaR 9% il o

.2
2.3
3.4
4.5

Options :

2268952606542 1
2268952606543. 2
2268952606544. 3
2268952606545. 4

Question Number : 108 Question Id : 226895672329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A tub contains 60 litres of milk. From this tub, 6 litres of milk was taken out and replaced with water. This whole
process was repeated further two more times. How much milk is there in the tub now?

1.29.16 litre
2.43.74 litre
3.42.24 litre
4.38.74 litre

Options :

2268952606546. 1
2268952606547.2
2268952606548. 3
2268952606549. 4

Question Number : 108 Question Id : 226895672329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U ed § 60 Tex gY BiaT 21 39 2d 9 6 oiiex gy FdTar /a7 iR 3% WH W R S1a 7411 39 G ufesar &f of aR
3R SR | 29 H 39 fhd gy 87

1.29.16 WY
2.43.74 WX
3.42.24 Tl
4.38.74 Wed

Options :

2268952606546. 1
2268952606547. 2
2268952606548. 3
2268952606549. 4

Question Number : 109 Question Id : 226895672330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



A person can row a boat in still water at the rate of 5 km/hr. It takes him 4 times as long to row upstream of a river as
to row downstream to cover same distance in the same river. The speed of flow of the stream is

1.5 km/hr
2.3 km/hr
3. 6.5 km/hr
4.4 km/hr

Options :

2268952606550. 1
2268952606551. 2
2268952606552. 3
2268952606553. 4

Question Number : 109 Question Id : 226895672330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Udh odidd 5 kmy/hr &1 &X U FRR G 919 9l Tdhdl g1 34 el & YN & Falg & Uiddd 621 H 96H gl a9 & o
TN GHY, A6l D YRT & YdIE DI 3@ (G201 H 79 B3 H T dlci 999 &1 4 71 8| 761 &1 4RI B 717 &:

1.5 km/hr
2.3 km/hr
3. 6.5 km/hr
4. 4 kmy/hr

Options :

2268952606550. 1
2268952606551. 2
2268952606552. 3
2268952606553. 4

Question Number : 110 Question Id : 226895672331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Two runners, Ajay and Vijay complete a 600 m race in 38 seconds and 48 seconds respectively. By how many meters
will Ajay defeat Vijay?

1.120 m
2. 140 m
3.125m
4.50m

Options :

2268952606554. 1
2268952606555.2
2268952606556. 3
2268952606557. 4

Question Number : 110 Question Id : 226895672331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



ol o1, oo AR fIom 3 600 m B 61 P 38 Y 3R 48 Ydbs & T oXdl o 3o, faog &l fsa i 5w
&

1.120 m
2. 140 m
3.125m
4.50m

Options :

2268952606554. 1
2268952606555. 2
2268952606556. 3
2268952606557. 4

Question Number : 111 Question Id : 226895672332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following inequalities holds true?
(A) V5 +43 = VB +42-

B) fa>bandc<0,then®< 2.
[ 14 &

©Lslsg ifocx<t.
x= X

(D) Iif @ and b are positive integers and g=b i then b > a.
625 25

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A) and (B) only
4.(B) and (C) only

Options :

2268952606558. 1
2268952606559. 2
2268952606560. 3
2268952606561. 4

Question Number : 111 Question Id : 226895672332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



fFafafed & 4 @F O smf@t 98 82
B VB +3 =6 +42

(E}ma}ba‘ﬁ?c{ﬂ,ﬁ[§<§

Oty Moww<
. X

(D) TR ¢ MR p B Il g MR- 2 dipsa

625 25
4 feu T faeed! 4 9 Wl IR -

1.®ad (A), (8) IR (D)
2.®Had (A), (B) 3R (O)
3. Had (A) 3R (B)
4. %ad (B) 3R (C)

Options :

2268952606558. 1
2268952606559. 2
2268952606560. 3
2268952606561. 4

Question Number : 112 Question Id : 226895672333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

If ¥ =logx, then which of the following is true?

1

diy Ay dy
L0 o

o \ax) Tax

diy  dy
2. —x—=0
dx?  dx

dZy  (dyy’
—%.—(—l) +1=0
dx* dx

d2y dw\?  dy
4. ~ 4+ (—) +—=0
*ax? T ik dx

Options :

2268952606562. 1
2268952606563. 2
2268952606564. 3
2268952606565. 4

Question Number : 112 Question Id : 226895672333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



qﬁﬁ':logx,ﬁmﬁf@ﬂ'ﬁﬁﬁmwg?

fi:_\’ (d}:)g - d}: _p
Taxwt T \ax dx

d?y dy
o+ —x— =0
T

dZy  (dyy’
3_%__(_1’) +1=0
ax= dax

dly dw®  dy
4, : (—) Tt
xdx3+x dx +d.x 9

Options :

2268952606562. 1
2268952606563 2
2268952606564. 3
2268952606565 4

Question Number : 113 Question Id : 226895672334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The total cost C(x) in Rupees associated with the production of x units of an item is given by C(x) =
0.007:3+26x%+ 15%+400. The marginal cost when 10 items are produced is:

1.3 5371
2.3441.15
3.3 1575
4.3 875.25

Options :

2268952606566. 1
2268952606567. 2
2268952606568. 3
2268952606569. 4

Question Number : 113 Question Id : 226895672334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

ol a5 B x SHISHl & SdIGT U Jol @ A Clx) T94 T C) = 0.007x3+26x%+15%+400 TR 4 A1 § | 919 10 T3l
@1 IUTCA [T STl & of HiHid I o:

1. %5371
2.3441.15
3. %1575
4.3 875.25

Options :

2268952606566. 1
2268952606567. 2
2268952606568. 3
2268952606569. 4



Question Number : 114 Question Id : 226895672335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The slope of the normal to the curve y = 2x2at y = 1 is:

1.4
2.-4
3.1/2
4.-1/4

Options :

2268952606570. 1
2268952606571. 2
2268952606572. 3
2268952606573. 4

Question Number : 114 Question Id : 226895672335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

x=1 R y = 2¢2 B LT B YU (@) &

1.4
2.-4
3.1/2
4.-1/4

Options :

2268952606570. 1
2268952606571.2
2268952606572. 3
2268952606573. 4

Question Number : 115 Question Id : 226895672336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

(1+x1 . ‘ : s
If f#_?gx)dx = e*f(x) + €, where C is constant of integration, then F(x) is
Xe
1. e*

2. logx

Bl

Options :

2268952606574. 1
2268952606575. 2
2268952606576. 3
2268952606577. 4



Question Number : 115 Question Id : 226895672336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

qﬁjuﬂmgﬂ — e*f(x) +C, T ¢ BT BT AR 3, A7) &

Options :

2268952606574. 1
2268952606575.2
2268952606576. 3
2268952606577. 4

Question Number : 116 Question Id : 226895672337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let o™ 4+ o 4 yx2 4§ loglx|+ € =0 where ¢ € R be a particular solution of the differential equation
xl(e® — 1)dy + (x* — 1)e¥dx = 0 and passes through the point (1, 1). The valueof (a +g+y+6—-C)is

l.e—1

2.et—1

1
J.e4-
o

41
e

Options :

2268952606578. 1
2268952606579. 2
2268952606580. 3
2268952606581. 4

Question Number : 116 Question Id : 226895672337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

A TIfST & @ + 8% + yx? + 6 loglxl + € = 0, T8l ¢ € R 8, HTDT FHIBI x(e? — Dy + (x2 — Levdx = 0 B
mRaRpeae SIREg (1, ) T TRA eI (a+p+y+6—C) DI A &:

l.e—1

2.e?—1
1

3.g+—
g

i
2

Options :
2268952606578. 1



2268952606579. 2
2268952606580. 3
2268952606581. 4

Question Number : 117 Question Id : 226895672338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The probability distribution of the random variable X is given by

X 0 1 2 3
PRX) 0.2 k 2k 2k

The variance of the random variable X is

764
625

1
625

i
25

Options :

2268952606582. 1
2268952606583. 2
2268952606584. 3
2268952606585. 4

Question Number : 117 Question Id : 226895672338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Tref=se 91 X &1 WAddl §c- 39 USR U &

X 0 1 2 3
P(X) 0.2 k 2k 2k
TEfwsc 9 X BT TR0

764
625

1
625

4208
7%

Options :

2268952606582. 1
2268952606583. 2
2268952606584. 3
2268952606585 4



Question Number : 118 Question Id : 226895672339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

How many minimum number of times must a man toss a fair coin so that the probability of having at least one head is
more than 90%?

1.3
2.4
3.5
4.10

Options :

2268952606586. 1
2268952606587. 2
2268952606588. 3
2268952606589. 4

Question Number : 118 Question Id : 226895672339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

% MeH & HH 4 S a1 aR U 9 [a®] 331 91iet diid & 4 &4 U6 fd9d 3 $1 Wikddl 90% I 3Hfbs
gl

1.3
2.4
3.5
4.10

Options :

2268952606586. 1
2268952606587. 2
2268952606588. 3
2268952606589. 4

Question Number : 119 Question Id : 226895672340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Let F(Z) be the cumulative density function of the standard normal variate z, then which of the following are correct?
1 F4 22
(A) F(z) = __f & d, =0 < Z Koo
VvamJ

(B) F(—2) = 1 —F(Z)

(C)Fio)=0

(D) F{mo) =1

Choose the correct answer from the options given below:

(&), (B) and (D) only
(A), (B) and (C) only
{(A), (C) and (D) only
(

1.
=3
3:
4. (B} and (D) only



Options :

2268952606590. 1
2268952606591. 2
2268952606592. 3
2268952606593 4

Question Number : 119 Question Id : 226895672340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

T T & F(z) TFE TR fER z &1 U9 99 Bad 6, 9 Fefifed f S o 88l 87

1 z
=

A) F(Z) =— e dz,—m< Z <
(A) F(Z) =l

(B) F(-Z) =1—-F(2)

(C) Flo)=0

(D) Flea)=1

3 R e Rieed! 7 & 0 SR o

1. &dd (A), (B) AR (D)
2. %Had (A), (B) 3R (O)
3. Had (A), () 3R (D)
4. %dd (B) 3R (D)

Options :

2268952606590. 1
2268952606591. 2
2268952606592. 3
2268952606593. 4

Question Number : 120 Question Id : 226895672341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What is the mean of the numbers obtained on throwing a die having written 1 on three faces, 2 on two faces and 5 on
1 face?

T2
2.4
3.1
4.8

Options :

2268952606594. 1
2268952606595. 2
2268952606596. 3
2268952606597. 4

Question Number : 120 Question Id : 226895672341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



I Ho®l W1, T Bad! )R 2 3R U6 Boad I 5 o U UE &1 B TR U SE13il &1 o1 714 &2

T2
2.4
3.1
4.8

Options :

2268952606594. 1
2268952606595. 2
2268952606596. 3
2268952606597. 4

Question Number : 121 Question Id : 226895672342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

For the given 5 values, 15, 18, 21, 27,39; the three year moving averages are:

1.18,21,29
2.18,22,29
3.18, 23, 37
4.18, 20,28

Options :

2268952606598. 1
2268952606599. 2
2268952606600. 3
2268952606601. 4

Question Number : 121 Question Id : 226895672342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

f&u U 5 HFl 15,18,21,27,39 & fag, JF af &1 fqgm O &

1.18,21,29
2.18,22,29
3.18,23,37
4.18,20,28

Options :

2268952606598. 1
2268952606599. 2
2268952606600. 3
2268952606601. 4

Question Number : 122 Question Id : 226895672343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following are correct?

{A) Time series analysis does not help to understand the behavior of a variable in the past.
(B) Time series predict the future behavior of variable.

{C) Time series helps to plan future operations.

(D) The main aim of the time series analysis is to derive conclusions after arranging the time series in a systematic
manner.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (B), (C) and (D) only
4. (C) and (D) only

Options :

2268952606602. 1
2268952606603. 2
2268952606604. 3
2268952606605. 4

Question Number : 122 Question Id : 226895672343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

IEEIIRCE R R A L e e e

(A) BT Soft fIweivor v =R & g ofiid § b4 71 S998R &1 993 § Hag Tl aal gl

(B) et Uit =R & Yfa™ & TIaeR &) uiasgarl &l 8l

(C) BTa 3t Higw & e Bt ol 9911 § Hag Bl &l

(D) BT STt FI=EN0T o1 47 G520 Hidt ATl & SHafyd adic § o3afyd B & 91¢ 5y [Hdra gl
T2 faw e fawed! & € wdt g

1.®dd (A), (8) IR (D)
2.%dd (4), (B) 3R ()
3.®4d (B), (O) 3R (D)
4.%ad (C) 3R (D)

Options :

2268952606602. 1
2268952606603. 2
2268952606604. 3
2268952606605. 4

Question Number : 123 Question Id : 226895672344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following is not a component of the time series?

1. Trend component

2. Cyclical Component
3. Seasonal Component
4. Average Component

Options :

2268952606606. 1
2268952606607. 2
2268952606608. 3
2268952606609. 4

Question Number : 123 Question Id : 226895672344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
frafafed 3 @ & @1 o1a 9ot &1 92w e 87

1. Ugil 9h
2. 919 Ueh
3. Hiod ued
4. 9d 9eP

Options :

2268952606606. 1
2268952606607. 2
2268952606608. 3
2268952606609. 4

Question Number : 124 Question Id : 226895672345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

lfy =a+b(x — 2022) is a straight line trend using the least square method for the following data

Year (x) 2020 (2021 [2022 |2023 2024
Profit ( Rs. "000) () P 3 4 5 2

Then the value of% is

15
2.5
3.16
4.2/3

Options :

2268952606610. 1
2268952606611. 2
2268952606612. 3
2268952606613. 4

Question Number : 124 Question Id : 226895672345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



o Tan o1 3y o1 Sui o gu i@ ofws! & fu we S uaii y = a 4 bex — 2022) &

Ty (x) 2020 2021|2022 2023|2024
TTH (3. '000) (1) 2 3 4 5 2
GE] ; PIAA &

1.715
2.5
3.16
4.2/3

Options :

2268952606610. 1
2268952606611. 2
2268952606612. 3
2268952606613. 4

Question Number : 125 Question Id : 226895672346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-lI

(A) An observed set of population selected for analysis () Parameter
(B) A specific characteristic of the population {Il) Hypothesis
(C) A specific characteristic of the sample (II) Statistic
(D) A statement made about a population parameter for testing |(IV) Sample

Choose the correct answer from the options given below:

1. (A -, (B) - (1, (C) - (1, (D) - (V)
2.(A) - (), (B) - (I, (@ - . (D) - (I
3. (A) - (0. (B) - (). (C) - (V). (D) - (1)
4. (A) - (V), (B) - (), (O - (), (D) - (D)

Options :

2268952606614. 1
2268952606615. 2
2268952606616. 3
2268952606617. 4

Question Number : 125 Question Id : 226895672346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



-1 BT FAT-11 D 1Y FHeaH B

ilT:ﬂ_[ -1

() oo & forg g+t 15 T @1 U Ufta wg=a (1) ST

(B) AP &I v ARy fa=mar (i) g
(c) ufoaxl @1 ue fafdp fagiwar ORERE
(D) THiEr & fore wafp wea & aR ¥ faan @ us oy (v) wfaest
e & e faweal & 9 9E 3R -

1. (A)-(1): (B)-(1), (Q)-(1), (D)-(IV)
2. (A)-(IV), (B)-(11), (C)-(1), (D)-(11)
3. (A)-(1). (B)-(), (C)-(1V), (D)-(11)
4. (A)-(IV), (B)-(1), (©)-(1n), (D)-(1D)

Options :

2268952606614. 1
2268952606615. 2
2268952606616. 3
2268952606617. 4

Question Number : 126 Question Id : 226895672347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following are the assumptions underlying the use of t-distribution?
{A) The variance of population is known.

(B) The samples are drawn from a normally distributed population.

{C) Sample standard deviation is an unbiased estimate of the population variance.
(D) It depends on a parameter known as degree of freedom.

Choose the correct answer from the options given below:

1. (A), (B) and (D) enly
2. (A), (B) and (C) only
3. (B) and (D) only
4. (C) and (D) only

Options :

2268952606618. 1
2268952606619. 2
2268952606620. 3
2268952606621 4

Question Number : 126 Question Id : 226895672347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



FrofaRed 3 O o9 91 4Rl +deq & Suai | Sidfiied 82
(A) TS T TR G ¢

) Ufaes m=a Ty 9 faafa g9 § R end &

(C) ufaesl gH® fdaa- T4 TERU &I U@ SHiYAd SEd ol

(D) T8 Us Urad, forll Waad @1 ®ife & ©U & SF1 ol 8, W R a=argl
14 few e fasedl H 4 |El IR g

1.®ad (A), (B) 3R (D)
2.%ad (A), (B) 3R (O)
3.®ad (B) 3 (D)
4.%4ad () 3R (D)

Options :

2268952606618. 1
2268952606619. 2
2268952606620. 3
2268952606621 4

Question Number : 127 Question Id : 226895672348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If a 95% confidence interval for a population mean was reported to be 132 to 160 and sample standard deviation
o = 50, then the size of the sample in the study is:

(Given Zy405 = 1.96)

1.90
2,85
3.50
4. 49

Options :

2268952606622. 1
2268952606623. 2
2268952606624. 3
2268952606625. 4

Question Number : 127 Question Id : 226895672348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

ofc ue TAP 919 & fau 959 Ayrad idwa 132 9 160 IR Ufdes 99 @ 990 o = so Sa/@1 741 41, a1 3feqgq o
ufieel &1 AR &

@WW % Zyg2s = 1.96)

1.90
2,85
3.50
4. 49

Options :



2268952606622. 1
2268952606623. 2
2268952606624. 3
2268952606625. 4

Question Number : 128 Question Id : 226895672349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

An annuity in which the periodic payment begin on a fixed date and continue forever is called

1. Sinking Fund

2. Perpetuity

3. Coupon payment
4. Bond

Options :

2268952606626. 1
2268952606627. 2
2268952606628. 3
2268952606629. 4

Question Number : 128 Question Id : 226895672349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

ud aiftia!, forae smadT YA us ffdd fafY 3 3% gia1 8 ok 8893 & fou o) tedi &, deaa &

1. %07 TeH el (Rifd Hs)
2. Il

3. QU T
4.9

Options :

2268952606626. 1
2268952606627. 2
2268952606628. 3
2268952606629. 4

Question Number : 129 Question Id : 226895672350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Which of the following are correct about the Sinking Fund?

{A) It is a fixed term account.

(B) It is a set-up for a particular upcoming expense.

(C) A fixed amount at regular intervals is deposited in the Sinking Fund.
(D) It can be used in any emergency.

Choose the correct answer from the options given below:

1. (&), (B) and (D) only
2. (A), (B} and (C) only
3. (C) and (D) only

4. (B), (C) and (D) only

Options :

2268952606630. 1
2268952606631. 2
2268952606632. 3
2268952606633. 4

Question Number : 129 Question Id : 226895672350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U1 2ed [ (e B8) & §R # Feifed § 9 oH Y 9l

(A) T8 U 13T oafy &1 | gl

(B) T6 U 4=y STt o o (o U a3

() Frafi sivre R us Miga TRy s 2 Pt (i bs) | 51 &t e 21
(D) SHehT UL fobll i afrurd fRufa o fangr o weal 81

ia feu e eyl H 9§ 9él IR 9

1. @dd (A), (B) IR (D)
2.%4d (A), (B) 3R (O)
3. %ad (C) 3R (D)

4. %4d (B), (C) 3R (D)

Options :

2268952606630. 1
2268952606631. 2
2268952606632. 3
2268952606633. 4

Question Number : 130 Question Id : 226895672351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



A person wishes to purchase a house for T 39,65,000 with a down payment of £ 5,00,000 and balance in equal monthly

installments (EMI) for 25 years. If bank charges 6% per annum compounded monthly, then EMI on reducing balance
payment method is:

[Given (1.005) 3% = 4.465]

1.3 22325
2.3 36542
3.3 21652
4.3 34500

Options :

2268952606634. 1
2268952606635. 2
2268952606636. 3
2268952606637. 4

Question Number : 130 Question Id : 226895672351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Udh o4fdd < 5,00,000 & daplad YaH R 29 A 25 961 & fow g9 A1 fazdl (EM1) & Ty T 39,65,000 H TR
I I18d1 &1 IS 9 AY® Y ¥ 6% dlltd dhgls Yoo odl &, dl GRS WY YT 4 TR EMI §:

[Fe=rd (1.005)3%° = 4.465]

1.3 22325
2.3 36542
3.3 21652
4. 34500

Options :

2268952606634. 1
2268952606635. 2
2268952606636. 3
2268952606637. 4

Question Number : 131 Question Id : 226895672352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The original value of an asset minus the accumulated depreciation at a given date is known as

1. Salvage value
2. Book value

3. Scrap value
4. Lost Value

Options :

2268952606638. 1
2268952606639. 2
2268952606640. 3
2268952606641. 4

Question Number : 131 Question Id : 226895672352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



ol i Ol W, ol uREuRy & 5o 5oy 4§ Sd 39819 &1 9eas Wi gl 959 & Healdl & 7

1. IR g
2. 981 5eY
3. %hUHY
4. @1 G A

Options :

2268952606638. 1
2268952606639. 2
2268952606640. 3
2268952606641. 4

Question Number : 132 Question Id : 226895672353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A sofa set costing T 36000 has a useful life of 10 years. If the annual depreciation is T 3000, then the scrap value by
linear method is:

1.% 4000
2.3 6000
3.34200
4.3 5400

Options :

2268952606642. 1
2268952606643. 2
2268952606644. 3
2268952606645. 4

Question Number : 132 Question Id : 226895672353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

% 36000 B DIHT & TP GG D1 JuGiTl SfiaH 10 9151 81 fe aiftfes Hesi < 3,000 ©, ol YRa® A gRI ! (Bhy) 5
=+

1.3 4000
2.3 6000
3.$4200
4.3 5400

Options :

2268952606642. 1
2268952606643. 2
2268952606644. 3
2268952606645. 4

Question Number : 133 Question 1d : 226895672354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



A person invested I 10000 in a stock of a company for 6 years. The value of his investment at the end of each year is
given in the following table:

2018 2019 2020 2021 2022 2023
11000 11500 [X13000 (311800 [R12200 X 14000

The compound annual growth rate (CAGR) of his investment is:

Given (1.4) /s = 1.058
[ iven {1.4) /i 5 ]

1.58%
2.42%
3.6.8%
4.3.2%

Options :

2268952606646. 1
2268952606647. 2
2268952606648. 3
2268952606649. 4

Question Number : 133 Question Id : 226895672354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U Aftd = 6 9Id & (AU T HU- & i H T 10000 BT a2 foan| uds a¥ & oid H 39 o & g Fefafad
afere & fearmr g:

2018 2019 2020 2021 2022 2023
11000 11500 (13000 (311800 [R12200 X 14000

3P G & dgig ai® g o &
[ﬁm‘é’(m} Ye = 1.058]

1.58%
2.42%
3.68 %
4.3.2%

Options :

2268952606646. 1
2268952606647. 2
2268952606648. 3
2268952606649. 4

Question Number : 134 Question Id : 226895672355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT a basic requirement of the linear programming problem (LPP)?

1. All the elements of an LPP should be quantifiable.

2. All decision variables should assume non-negative values.

3. There are a finite number of decision variables and a finite number of constraints.
4. It deals with optimizing number of objectives mare than one.

Options :
2268952606650. 1



2268952606651. 2
2268952606652. 3
2268952606653. 4

Question Number : 134 Question Id : 226895672355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofefaa ¥ T o9 O 3a® Uium= 991 (LPp) &1 §H4IE] Sa%gddl el o7

1. LPp & YT 31999 AETES 514 et

2. i Fofg 93 & HUER 5F YU &3 gl

3. oy == &1 ve Hifte Te iR egadiyf &1 ues diftd 9= sl 8l
4. 9% U@ Y Hf® Jexal @ @i &3 4 Yefid gl

Options :

2268952606650. 1
2268952606651 2
2268952606652. 3
2268952606653. 4

Question Number : 135 Question Id : 226895672356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statements are correct in reference to the linear programming problem(LPP):
Maximize Z = 5x + 2y

subject to the following constraints
3x + 5y = 15, 5x + 2y = 10, x=0,y=0.

(A) The LPP has a unique optimal solution at (2, 0} only.

(B) The feasible region is bounded with corner points (0, 0), (2, 0), {20/19, 45/19) and (0, 3).

(C) The optimal value is unique, but there are an infinite number of optimal solutions.

(D) The feasible region is unbounded.

Chouose the correct answer from the options given below:

1. (A) and (D) only
2. (A), (B} and (C) only
3. (4), (C) and (D) only
4. (B) and (C) only

Options :

2268952606654. 1
2268952606655. 2
2268952606656. 3
2268952606657. 4

Question Number : 135 Question Id : 226895672356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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HEHETHIHE Z = Sx+ 2y
frafeiad saaviel & siarid
3x + 5y = 15, S5x + 2y =10, x=0,yv =0
& HeY § Fefaied 4 4 &1 4 oy w81 &
(A) LPP B HAd (2, 0) TR T 3HgdIg 3Pad 5l ol
(B) G &7 DI fdgail (0,0), (2,0), (20/19,45/19) 3R (0,3) ¥ URES B!
(C) SFTH A Hfgird g, b 3PaH 8ol &I ofFd HEA g1
(D) GHTA & 3RS B
A feu e fasedl H 9 w8l IR I

1.®ad (A) 3R (D)
2.%4d (A), (B) 3R (O)
3.%4d (A), () 3R (D)
4.ad (B) 3R ()

Options :

2268952606654. 1
2268952606655. 2
2268952606656. 3
2268952606657. 4



